Supplement
Derivation of Equation (6)
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Linear regressions of the coefficients in Table 2 yield

a, ~(2.38+0.06)a,,b, ~(2.33+0.03)b,,b, ~—(0.097+0.013)a, +(6.4+5.9)

=

a,In(S5%)+a, ~ a, In(S5%) +(2.38 £ 0.06)a, ~ a, (In(S5%) +(2.38+0.06))

b, In(S5%) + b, ~ b, In(55%)+(2.33+0.03)b, = b, (In(55%)+(2.33+0.03))

~(—(0.097+0.013)a, +(6.4%5.9))(In(S5%) +(2.33+£0.04))

=

Reeno = (,In(SS%) +a, ) BSF + b, In(SS%) + b,

~a,(In(55%) +(2.38 £0.06))BSF +(—(0.097 +0.013)a, + (6.4 +5.9))(In(55%) +(2.33+.0.03))

Approximation, since (2.33+0.03) ~(2.38+0.06)

=

Reenso = 0; (IN(SS%) +(2.38 £0.06)) BSF —(0.097 £ 0.013)a, (In(S5%) +(2.38 £0.07)) + (6.4 £5.09)(In(S5%) + (2.38 £ 0.06))
~a, (In(55%) +(2.38+0.06) ) (BSF —(0.097 £0.013)) + (6.4 + 5.9)(In(S5%) + (2.38 £ 0.06) )

~(In(55%) +(2.38£0.06))(a, (BSF —(0.097 £0.013)) + (6.4 +5.9))

~ (In(55%)—In(0.093 £ 0.006))(a, (BSF —(0.097 £0.013)) + (6.4 +5.9))
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Derivation of Equation (7)
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where Cis an unknown constant.
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